FALCIATRICE ROTANTE ZRF-TL 1000-1150 LATERALE




FALCIATRICE ROTANTE ZRF-TL 1000-1150 LATERALE

Pos. Codice Q.ta | Descrizione Prezzo
1 8200001 2 SUPPORTO ALBERO € 16,95
2 5105064 1 ALBERO TRASMISS. SECONDARIO ZRF-TL 1000 € 285,00

5105063 1 ALBERO TRASMISS. SECONDARIO ZRF-TL 1150 € 315,00
3 5107008 1 ALBERO PTO TRATTORE ZRF-TL1000/ 1150 € 65,50
4 5120007 2 PIGNONE Z 10/17 LATERALE € 46,00
5 5120008 2 CORONA Z 17/10 LATERALE € 69,00
6 5130025 1 CARDANO T10 B1056B (B1037CE) € 113,40
7 5130026 1 CARDANO T20 RUOTA LIBERA B2062B+RL1 € 190,00
8 5215015 1 PERNO ATTACCO 3° PUNTO ART.1611 € 8,20
9 5215071 2 PERNO D’ATTACCO 22-20 ART.5199 € 11,00
10 5215420 1 BUSSOLA PORTACUSCINETTO ZRF-TL 1000/1150 € 45,00
1 5220008 2 DISTANZIALE CUSCINETTO CANDELA €4,50
12 5225033 2 COPERCHIETTO DISCO INFERIORE € 2,50
14 5225091 2 SPESSORE CUSCINETTO CANDELA € 2,50
16 5226362 3 FLANGIA ATTACCO CUFFIA ZRF 1400 €5,00
17 5228014 1 RIGA DI POSIZIONAMENTO ZRF-TL 1000-1150 € 12,00
18 5228015 1 LAMINA TAGLAERBA ZRF-TL 1000-1150 € 33,50
19 5301092 4 VITE TE M 14 X 140 PF UNI 5737 DIN 931 €4,20
20 5301107 1 VITE TE M 16 X 140 PF UNI 5737 DIN 931 €5,20
22 5314005 1 TAPPO LIVELLO OLIO 3/8 CON ASTINA L.110 €6,00
23 5326001 2 GHIERAAUTOBLOCCANTE M 20 X 1 €4,00
24 5332021 4 ANELLO D’ARRESTO D.25 EST.UNI7435 DIN471 € 1,00
26 5333032 4 ANELLO D’ARRESTO D.52 INT.UNI7437 DIN472 € 1,40
27 5341012 2 SPINABETA D.4 AMA 114 € 1,00
28 5341009 1 SPINOTTO DI SICUREZZA D.8 AMA 1369 € 5,50
29 5341017 3 COPIGLIAA SCATTO D.10 C/TIRANTE ART.252 €4,00
30 5342012 1 LINGUETTA8 X7 X 32 €1,50
31 5345001 20 RIVETTOALL.D.4,8 X 10 TESTAD.14 €0,40
33 5350001 8 COLTELLO ZRF 105X47X3 F.21 SERIE PZ €2,40
34 5360001 2 CUSCINETTO 6205 25-52-15 €5,00
35 5360002 6 CUSCINETTO 6205 2RS 25-52-15 €7,00
36 5360004 2 CUSCINETTO 6006 2RS 30-55-13 € 10,00
37 5360059 1 CUSCINETTO 22205 52-25-18 CW-33 € 29,50
38 5381001 2 ANELLO DI TENUTA SC 29-50-10 €4,00
39 5390001 2mt | GUARNIZIONE ADESIVA NERA 25X5 € 5,20/mt
40 5400027 2 CUFFIA PROTEZIONE CARDANO ART. 35/101 €17,60
41 3105004 2 ALBERO USCITA CANDELAALTA € 45,30
42 3230003 2 DISCO INFERIORE COMPLETO ROTOFALCE 1000 € 103,00

3230004 2 DISCO INFERIORE COMPLETO ROTOFALCE 1150 € 106,50
43 3230011 2 DISCO SUPERIORE COMPLETO ZRF 1000 ALTA € 134,00

3230013 2 DISCO SUPERIORE COMPLETO ZRF 1150 ALTA € 149,50
44 3230240 1 COMPOSTO PIEDINO APPOGGIO TFZ € 35,50

MACCHINE AGRICOLE




FALCIATRICE ROTANTE ZRF-TL 1000-1150 LATERALE




FALCIATRICE ROTANTE ZRF-TL 1000-1150 LATERALE

Pos. Codice Q.ta | Descrizione Prezzo
45 3231161 1 COMPOSTO STAFFA ROTAZIONE ZRF-TL € 38,00
46 3231162 2 COMPOSTO PARALLELA ZRF-TL 1000 € 152,50
47 3231163 1 COMPOSTO STAFFA FULCRO ZRF-TL 1000 € 55,00
48 3231164 1 SCATOLA INGRANAGGI COMPLETA ZRF-TL 1000 € 345,00

3231165 1 SCATOLA INGRANAGGI COMPLETA ZRF-TL 1150 € 355,00
49 3231167 1 COPERCHIO SCATOLA INGRANAGGI ZRF-TL 1000 € 65,50
3231166 1 COPERCHIO SCATOLA INGRANAGGI ZRF-TL 1150 € 75,50
50 3231168 1 COMPOSTO CASTELLO ZRF-TL 1000/ 1150 € 370,50
51 3231169 1 COMPOSTO COFANO ZRF-TL 1000 € 458,50
3231170 1 COMPOSTO COFANO ZRF-TL 1150 € 428,50
52 3231171 1 COMPOSTO BRACCIO ZRF-TL 1000/1150 € 84,50
53 3231174 1 SEMITELAIO DX DI PROTEZIONE ZRF-TL 1000 € 50,50
3231172 1 SEMITELAIO DX DI PROTEZIONE ZRF-TL 1150 € 50,50
54 3231175 1 SEMITELAIO SX DI PROTEZIONE ZRF-TL 1000 € 50,50
3231173 1 SEMITELAIO SX DI PROTEZIONE ZRF-TL 1150 € 50,50
55 2020075 1 SCATOLA TRAMISSIONE ZRF-TL 1000/1150 € 364,00
56 5385045 1 ANELLO O-RING OR 3225 € 0,50
57 5400008 1 PROTEZIONE IN GOMMA 330 X 3310 (1150 A) € 49,50
58 5380001 1 ANELLO DI TENUTATC 25-52 - 07 €4,50
59 5300559 4 VITE TEM 10 x 55 IF UNI 5739 DIN 933 Z. €0,80
60 5300553 8 VITE TE M 10 X 25 IF UNI 5739 DIN 933 Z. €0,80
61 5400402 1 CUFFIA PROTEZIONE CARDANO ZRF-TL € 14,60

w
-
O
o
14
)
<
w
=
T
O
&)
<
=




FALCIATRICE ROTANTE ZRFT 1200 LATERALE




FALCIATRICE ROTANTE ZRFT 1200 LATERALE

Pos. Codice Q.ta | Descrizione Prezzo
1 5227304 1 CARTER CARDANO ZRF 1200 € 35,00
2 5227306 1 STAFFA FINECORSA ZRF 1200 € 15,00
3 3230893 1 COMPOSTO COFANO ZRF1200 LAT € 475,50
4 2020051 1 SCATOLA CONDOTTA ZRF 1400 (9.281.079) € 333,00
5 4110005 2 BUSSOLA DENTATA BERTOLINI 310 €15,70
6 5227286 2 PIASTRA ATTACCO COFANO ZRF 1200 € 58,00
7 5333032 2 ANELLO D’ARRESTO D.52 INT.UNI7437 DIN472 €1,40
8 5227305 1 CARTER TRASMISSIONE ZRF 1200 € 35,00
9 5332028 4 ANELLO D’ARRESTO D.35 EST.UNI7435 DIN471 €1,10
10 5227063 2 DISCO PROTEZIONE CANDELA ZRF 1400 € 14,00
11 5360002 4 CUSCINETTO 6205 2RS 25-52-15 €7,00
12 3230894 1 TELAIO PROTEZIONE ZRF 1200 € 80,00
13 5130017 1 CARDANO T40 RUOTA LIBERA B4060B+RL1 € 280,00
14 5332021 2 ANELLO D’ARRESTO D.25 EST.UNI7435 DIN471 €1,00
15 5220008 2 DISTANZIALE CUSCINETTO CANDELA €4,50
16 3230004 2 DISCO INFERIORE COMPLETO ROTOFALCE 1150 € 106,50
17 5350001 8 COLTELLO ZRF 105x47x3 .21 serie PZ €240
18 3230891 2 DISCO SUPERIORE COMPLETO ZRF 1200 € 149,50
19 5227061 8 RONDELLA BLOCCAGGIO LAMA ZRF 1400 €4,00
20 5341017 3 COPIGLIAA SCATTO D.10 C/TIRANTE Art.252 €4,00
21 3105062 2 ALBERO USCITA CANDELA ZRF 1200 € 104,50
22 5360020 4 CUSCINETTO 6207 2RS 35-72-17 € 14,00
23 3230897 1 COMPOSTO CASTELLO ZRF 1200 LAT € 390,50
24 5215015 1 PERNO ATTACCO 3° PUNTO Art.1611 €38,20
25 3230896 2 COMPOSTO PARALLELA ZRF 1200 LAT €172,50
26 5227288 1 RIGA POSIZIONAMENTO ZRF 1400 LAT €12,00
27 2020050 1 SCATOLA MOTRICE ZRF 1400 (9.281.080) € 342,00
28 3230889 2 COMPOSTO MOZZO PORTACANDELA ZRF 1200 € 88,00
29 3230892 1 COMPOSTO TELAIO ZRF 1200 € 561,50
30 5226362 2 FLANGIA ATTACCO CUFFIA ZRF 1400 €5,00
31 5400027 2 CUFFIA PROTEZIONE CARDANO Art. 35/101 €17,60
32 2020049 1 SCATOLA ENTRATA ZRF 1400LAT (9.281.078) € 333,00
33 3105063 1 ALBERO COLLEGAMENTO SCATOLE ZRF 1200 LAT € 96,80 L_llJ
34 5227287 1 PIASTRAAPPOGGIO PARALLELA ZRF 1200 LAT. €13,00 [e)
35 5400248 1 PROTEZIONE IN GOMMA 340 X 3500 (1200) € 87,00 9
36 3230895 1 COMPOSTO BRACCIO ZRF 1200 LAT € 90,00 g
37 5225033 2 COPERCHIETTO DISCO INFERIORE € 2,50 <
38 5130022 1 CARDANO T20 B2 N 370 CE A60 A60 €180,00 (1]
39 5215111 1 GANCIO SUPPORTO CARDANO ZINCATO € 15,00 %
&)
(&)
<
=




